EARAROBEEIERT — 2 N— IBISH —F

201759A2H (+) 6mKR1A

N =i 0y ViGEESERE C2+m Y% —K B R
[AE4£] 17 :200,000 ™ ~ 237%&:40,000”  337%&:20,000H” . 43&:14,000H 53 :6,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N e = TIPS :25. —-3-3- . — 2I1E— (KR)
i N =BT 3 %) 1(2_5)5 3-3-3-3 | 40.6 4 (4_622) Bl
&= RIVERII BNFIE1RYY 77 —L4
=3, 0=_5 4 3 | ERRD 1:25.8 1-1-1-1 | 41.5| — 3 452 | PR (BERE)
2|5|5| 7737 —7— 56.0 @ o |ABEXT
L7 Rvq14vYao-> B:S5T7—-X7—5— FIRX %Y K
o3 . it 3 | A 1:26.2 2-2-2-2 | 41.7| — 1 418 | BIIE— (KR
3| 7| Ty b 54.0 @172 o) | R
L7 RIA ¥ L—> BN HFILY ZVF TIT— I
S, 55 4 3 | HEA 1:26.5 4-4-4-4 | 41.5| — 2 480 | EHZ (KR)
4 4 va177 56.0 (1 3/4) (-5) FEEE
Rib—tIRILEY BiiF—AA K145
=L AS # o3 | HREE—H 1:27.4 6-6-5-5 |41.9| — 5 446 | ERE (KR)
5 2| TLTZAR 56.0 ®) ) |MEEEZ
RO—TXA LA, B4y IVTSA =S
R KHFIE 27, 77~ 9 - LAHF (B
6 6 gLt hO—J % 3 o 1(237)9 7-7-7-7 | 40.9 7 :22;1 i
L:hT74=>F B:AXRITL—X EE&H%%5
4 3 | At 1:28.2 5-5-6-6 | 42.5| — 6 456 | EEEHEE (KR)
7111|2170 F—00 ¥¢55.0 1 1/2) (1) | A=
x4 avR—5— BTN T1—% A A
® I —F—EBIERL
13—7+— 5,7,3,4,1,2,6
A== 5,7,3,4,1,2,6
Jol=5r= 5,7,3,4,2,1,6
40—+ — 5,7,3,4,2,1,6
[ N3
BB 3 660M 714K 3-5 210M B = 3-5 1,240 3EHE 3-5-7 1,000
8 B 3 240M 3-7 240M B H Hg0 2,330 K31 Babailt 6,960
5 200M 5-7 180M

ABICOVWTRDTEEERROODE. TR LIV,




